» Wurzet
T_) /7 ?I_» /7 T_) ufg a?f) n b l aTtst é\_, /7 ?_)
/L /) Zu \vermiscl "‘_tgn Aufgaben /L I_}‘)_slﬁngen

© by Fit-in-Mathe-Online.de
Vermischte Aufgaben - Blatt 8
Losung Al

a) |Va+b-y(a+hb)®=(a+b)*=(a+b)?
b) [3lx—y)-V27(x—y)=3(x—y)-3/3(x—y)=3-3(x—y) =9(x—y)

) \/ 2 _\/7y+3x=\/24(7y+3x)=ﬁ=1

3x+7y 2 (Bx+7y)-2
Q) | [T B e [ [ [
14x 7 98 14x-7-98 2-7-x-7-98 49-49 49
e) | 2V75 —4V12 +V3 =2v25-3 —4V4 -3 +/3 =10V3 - 8V3 +/3 =3V3
f) | (2x +y)V98 +/8x% + 8xy + 2y2 = (2x + y)V49 -2 + /2(2x + y)? =
7-Qx+ V2 + 2x+y)V2 =8-Q2x +y)}V2
g) |V32+V50—-V128+V18=vV16-2+vV25-2—V64-2+9 -2 =42
h) | 3v2a3b% —V8a3bh2 —/72a3b? = 3ab\2a — 2ab\2a — 6ab\2a = —5ab\2a

Losung A2

a) |(ea+b-bva—b) —(bWa+tb—ava—b) =
az(a+b)—2abm+b2(a—b)—(bz(a+b)—2abm+a2(a—b))=
a’(a+b) —a?(a—b) + b%(a—b) —b%(a+b) = a?(a? — b?) + b?(a? — b?) =
(a? — b?)(a? + b%) = a* — b*

b) (3\/2x+y+\/2x—y)(3\/2x+y—\/2x—y)+(3\/2x+y—\/2x—y)2=
BYZi+ )’ — (V2x—y) +BV2x+9)* - 6/@x + D@ - + (Y22 —y) =
18(2x + y) — 6,/4x?% — y?

c) |Va+b+Va+b—Va—-b+Va—-b-3Va+b+2Va+b+Va—b=
3Va+b—2Va+b+3Va—b

d) 3\/x2-W~ x-i/x2~w-\/x3~w-li/7=

vxz . 4ﬂx3 . \/x . 3ﬂx5 . \/x‘l' . ?{/}- 12‘/x — 31Ix2 . 121/x3 . xéﬂxz . xzé\;/}. 12‘1x7 —
a8 83 Vx% - x28x2 -7 = x3 - /x8 x3 - x4 x2-x7 = x3 - "Ax2% = x5

Losung A3
1. |a-Va==> C |a®®
2. | a? Va==> A | a®®
3. \% ==> G | %5
4, g —=> F | a5
2
a
5. ﬁ) ==> E |a
6. £(21 ==> D CI__l’5
a
7. | |5 ==> B|at
a
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Losung A4
Le-0s_g [k 1 _gfk 1 _glk
Sk\/;e —5\/; 90.5_5\/;\/5_5\/; q.e.d.

Losung A5

1 1 ‘ 1 ‘ 1
24 o _ -32 o -32 o = 42 o
0.5 6 3 27 2 8 3 81

0 52,4 > 2—3,2 > 3—3,2 > 3—4,2 > 5—3,2
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